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Time: 30 Minutes Paper:1 OBJECTIVE U.'Jf‘ i 24 &i* 30 1By
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Bank reconciliation statement is a part of

pass book L (D) cash book S (©)
Kashif sublets part of his premises to Majid.
How will kashif classify ‘the rent he receives?
&7 3k (B)

capital income 4T sl ~ (D)

The bank statement of Ali shows a bank overdraft of
Rs 3280 on 31st March, 2023. At that date there were

revenue expenditure

uncredited cheques of Rs 760 and unpresented cheques
of Rs 920. What is the cash book balance at 31st March, 20237

Rs 3120 credit =2/ 5 3120 (B)
Rs 3440 credit ».£/2_» 3440 (D)

The error which is made in the preparation of
trial balance is called

principle epfor o"b d#1 (D)
Petty cash book is a branch of
trial balance U AAD) ledger 2 (C)

Sale of goods costing Rs 1500 for Rs1800 will
increase the owner's equitpby
Rs 1800 ¢ 2 1800 (B)
Rs 3300, ¢ 3300 (D)
A business decides to record stoqk' of stationery
as an asset only if the value is over Rs 100.
Which accounting principle \fvil'l. be applied?
historical c;p'é;t concept J! ¥ =1 (B)
matqfiélity concept sl ¥ =il (D)
Sales journal is used to record
' =348 (B)

sale of assets w35/ wlb2tl (D)

cash sales

A bill of exchange is a
Py &
order to pay ,.»Lf(o—bl (B)
conditional payment (,ébi b3/ (D)

(A1 0w

posting error uwl,(f,u}l §B) /

o ..ﬂ . ()“ﬁynﬂ}f
ledger /7 (B) joupral £t (A)
S e g L0l Lo K blal 2 | 2K

?5’94.../4‘{{5# ) L{Z—-bru/;):“’: J

capital expénditurel, &7~ (A)

revgn“fje income @l JQL (C)

& 3/32804LEr o T2 Ff 20235431
LU Gk 1 e S it
L/r @20 G 00/ Uk 5 oo 35760

S YU ¢ LS 20238431

(" 1PRs 3120 debit 2rd&ss 3120 (A)

_ Rs 3440 debit <} < 3440 (C)
estsipn 24 SN2 B
< 311?(

trial balance error L}u‘ e ._;‘%JT} (A)

casting error J’LJUI/ (C)
PN /NN N

cash book 3% (B) journal £t (A)
&3/1800 = AFk U SV ¢2,1500

Co bl b Fobl e & Sesp it

Rs 1500 & 1500 (A)

Rs300 ¢ 300 (C)

Lt S 2085 S o 0 b Ao ]

e £s100ed Sutfieb

e A It Ld ¥ i

accounting entity concept  Js*1 § = (241> (A)
matching concept Url K =l (C)

Bkl Zle o b Ju1 233 2L
credit sales w35/ slesl (A)

total sales ..‘.'-\53) L}‘ (C)

& Lk

promise to pay e Kuﬁ-/bl (A)
request to pay ## Fu (©)

o |
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10 - Receipt of cash from Zahid will affect SLisiidmd b e s
cash and debtor J’;/"‘.»:I i (B) cash and credltor )bfiu’/ i (A)

cash and goods #3111 & (D) cash and owner's equlty ‘u’dtﬁL s 3 (C)

11- Mistake in balancing an account is an error of & J&tﬁ L bk € 223K
compensation (1t (D) principle J»? (C)  commission (/! (B) /omission S (A)

12- The grace days of bill of exchange are </ & eals b L $a
6 (D) 5 (C) 4@ 3 (A)

13- When two parallel lines are drawn across the face Jt db d6 U Uil 0 4 o Kl
of a cheque, it is called ur J:;.i s
Crossed cheque LU/ (B) & Order cheque & ,,u’s (A)

Special crossing cheque —&ZUL/5% (D) Bearer cheque ()

14 - Debit balance of trading account is 2 el 1
netloss Wl %6 (D) netproft &% (C) gross loss/ AT @) g A

15 - The properties owned by a business enterprise are called ki V4 d O@@Ju Yoo
owner's equity (76L (D) liabiliies =2t (C) _,.6apna| A/ (B) ssets b2t (A)

16 - A slip which is filled to deposit money into ' QS 7
bank is called B RE 0 « Jﬂfé ai? i

Credit slip \.{_)‘u¢/ Pay-in slip +ule (C) L (B) Cashslip
17 - Interest due but not yet received is ‘l RN U S upr YUz

payable income wal bzl (B received income oy

unearned income 4T Ur0=
18 - The king of all the books of accounts is
pass book Gk (D) Cash

o by

FH W

[ oJ/LJf’:

accrued income T Jre2ls (C)

-y,

(C) Ledger % (B) Journal £t (A)

19- Wages paid on installation of pl / e b/ ¥erly %"-JJJI{{
deferred revenue ex@? dUL i (B) Revenue payment J:’ byl J_L)L (A)

capi | &7 Gl (D) revenue expenditure &7 QUL (C)

20 - Munir sells goods it to'Rehan. Rehan returns U s e U P £ ;Lmlfu'.i:f'
some of thesg & Munir. Which document uffuu,;/_-"'iq._ 6/ s )’/g"rlfli:c_.

will han? =37 N

debit note s} (B) creditnote =it/ (A)

statement of account /=W (D) invoice /191 (C)

244-(1V)-18tA 324-17000

-10

-11

-12

-13

-14

-15

- 16

= 14

-18

-19

-20



PRINCIPLES OF ACCUUN G 11th T @l ecdopl (15TA 324) Bk ST AL

(COMMERCE GROUP) (S )
Time: 2:30 Hours  Paper: SUBJECTIVE dw 1 & 2:30:5%
Marks: 80 6’7 UJ’*W 80:0’5[.
Note: Section I is compulsory. Attempt any THREE (3) (3) £ J.sr e pn o Q%djﬂ Jil o
questions from Section II. ez Ly

Section - I Jil =
2 - Write short answers to any FIVE (5) questions.  (2x5=10) &£ /feliz/FLeoy (5) &} « 0f-2

i- What is meant by Book-Keeping? e sy Ve LIl -i
ii- Define Merchandise or goods. A J..wi_fdf. LA AS -
iii- If liabiliies are Rs 30000 and assets are Rs 80000. L e siljB0 ot il gt & &rs 30 ko A i

Then what will be the capital? ' v Gligly St |
iv- Whatis effect of increase in income on capital? fe by Ay e S AT
v- What is meant by petty cash book? ' fely e 0 ui-“-"(,;{» Jﬂs
vi- Sketch format of double column cash book. 02 . P% N1 T—
vii- What are two major functions of bank? \Vd l;'/(_fjf/ Aol L -vil
viii - What is meant by dishonour of cheque? & Ve Ll G -vidd
3 - Write short answers to any FIVE (5) questions.  (2x5=10) ‘._;é_/f.:fl,lz/‘?ﬁaﬂlr (5) ég = Jf— 3
i- Write down names of parties in a bili of exchange. _ggrt L G2pL gk -i
ii- Define discounting of a bill of exchange. ‘é h@/".(,(i.bﬁ A Uke o -ii
iii- Explain the term un-collected cheques. L 2ol JL/"GY&A;LJ}"JAP Lot -iii
iv- What is the main objective to prepare bank recongiliation'statement? S (s (Hil Py g 7
v- Differentiate between capital loss and reveniie loss. 225 Yl G U IS OY sl gl -V
vi- Give two examples of capital expenditures: e B :_Z'.': uijt‘/ » J..:lgijl Wl -vi
vii- Explain the term closing stock. h LB 2ol §o0 5 B Ll -vid
viii - What is meant by error of principles? e iy Ve J’J;Ju:’r’f - viii

Section - IT [ -

4 - Enter the following transactions into General Journal: (20) :2_’:(‘}.‘ £l Ll el uf-J St -4
i- Started buSingss With €ash Rs 250000 L3/ Ass e S £5,250000 & -

ii - Deposited Rs 40000 into bank Lr,/c;’-u: ,@ <-5,40000 clf -1
iii - Bought goods at list price Rs 20000, less trade discount J;Lr” Lf"‘u:’/,»_/';!_}f,; ol 6}‘4?..»20000 é’ - iii
@ 5% w4538
iv - Cash given as charity Rs 100 XS AA)-4 U'MH_,MDU é" -iv
.v - Purchased goods from Wagas for Rs 12000 J"/x-/c, s L2 d/a..u‘IZOOO 6’5 -V
vi - Goods returned to Waqas for Rs 1000 u-‘.’/u-):b :ﬂflu L2 J{.:..MGOD é" -vi
vii - Received interest on investment Rs 500 Y <-2/500 é’—'»’{ S - vid
viii - Office equipments purchased for Rs 5000 i[;;}'uLLa}La d}% Ka;.ysooo d" - viii
ix - Paid electricity bill Rs 3000 Yl 23000 G ¥ F - ix
x - Paid cash Rs 10800 to Waqas and received a discount £-/200 &l Jule:! L,F‘-f%,ﬂ 0800 Eﬁ'-‘f;fb‘; -X

S S =t

of Rs 200
(&1 3m) /,k/

sy -2 AFS
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5- Prepare Bank Reconciliation statement from the following: (20)
i - Balance as per pass book Rs 8000
i - Uncreq‘lted cheque Rs 3000
ji - Unpresented cheque Rs 2000
iv - Bank charged interest Rs 100
v - Bank charges Rs 200
vi - Interest on Government securities collected by Bank Rs 400

6 - Explain with reasons whether the following items are
capital or revenue

i - For advertising purpose, distributed goods as free sample.
ii - Custom duty paid on Machinery.
iii - Discount on issuance of Debentures.
iv - Goods destroyed by fire.
v - Profit earned on sale of old Truck.
vi - Cost of air conditioning.
vii - Profit earned on sale of goods.
viii - Heavy advertisement of a product resulting benefit for

- . =,
. -y ¥

next three years.
ix - Cost of good-will purchased.

x - Amount spent on uniform of the staff.

7 - Give the necessary Journal entries to correct thefollowing errors:
i - Cash Rs 2532 paid to Anwar was postgdl 8 Rs2325 in

his account.

it - Machinery purchased for Rs 450000 recorded as
purchases.

iii - An amount of Rs 20@ireceived from X and credited to Y as
Rs 2000.

iv - Furniturgsseldte Ibrahim for Rs 2500 was credited to sales
gccount.

v - Gaffriage paid Rs 950 posted to carriage account twice.
vi - Trade expenses of Rs 610 posted in ledger as Rs 160

vii - Discount allowed of Rs 300 has been posted to credit side
of discount received.
viii - Purchase return of Rs 100 have been posted to the debit side.

ix - Purchase of Rs 400 from Irfan passed through the sale book.

x - Sale account was undercast Rs 500

(éJ-i JJ’)
_.._q,.d;l.g{-3~;}f._-:ﬁf

(20)

2 P e 6 -6
£ 8000 F ¥ G UL i
243000 i 02/ Uryd i
&5/2000 G 2 il
&9100 Y Lol sy & L - v
€200 7/ L -v
L2400 U & G 2w g B 2 i

(20) Ui QU AT oL E e deLatis -6

LA JES e S -
Syt g i
o oA gl S e K i
A LT -
...LU'(';’.:. ./(::JJ/VG by -v
A S B - vi
WEL Sessp S -vi

LA 87 S ook et 4 AV K1 - i
Hrasb LJVJ-:
_JIJ l;:’..-)/n(‘v - 1%

*J(w”f:,;pli:fg[‘dl; -X
:4:6;;;- Jz d L Gn st S5 bm =T

LA Lt B fer2532 L091 -i
- 12325
AL 7§17 G S 2150000 EF - i
-5 /E',»
2000 £ WL Y S s e X (0§ &20200 -
oSkl ey
AL s pol S mde) 7 6 422600 S il - iv
s d e ST
Un :H/fi Slse sl L;'?bl JL}JLV.J[_. J$31950 -y
S T A
o &9/160 2 2§ 4610 & bl A - vi
Ly
UL el 'L?’d £-5/300 &:‘MUJ LSfLEJ - vii
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8 - Mr. Khurram sold goods to Mr. Shaban for Rs 8000. Mr.  (9q) J_¢/ _”J&J)fuvﬁc’)[‘;dLu:%_ﬂaoooéfé__ 7 -8
Khurram drew a bill of exchange for the same amount on Jar J v . J "
.1.‘...'._-_; 1.‘ 1 i . (

Mr. Shaban. Mr. Shaban accepted the bill and returned it Jr*dya.ut_;v Sk {ul"v)b r!,{;

to Mr. Khurram. The bill was dishonoured on the due date.

UK Bos 27 o0 8 e SIS L
;:::\:i::e these transactions in the books of Mr. Khurram : .Qﬂ;_; /wa JJ/J " Jrf e
e Uk ot Koy o Sk 7 (a)

_yuﬁ, 9 %_11?80067 e LSkl 7 (b)
6 SIS S e g (7 ()

$E LI skl 7 @)

(a) The bill was retained by Mr. Khurram till due date.

b) The bill was discounted by Mr. Khurram at his bank in Rs 7800.
¢) The bill was endorsed by Mr. Khurram to his creditors.
)

(d) The bill was sent by Mr. Khurram fo his bank for collection.

9 - Prepare frading, profit and loss account and balance sheet (20) ¥ YL (‘5’ J;l,{" b’uﬂ-ﬁ!/"f2022/:’3 31 -9

of Mr. Arslan for the year ended on 31st December 2022. ,éjl_; ;?u:"L-"

Particulars o Debit Credit
Opening stock W25 80,000, | e
Pruchases Gils? 70800 0 | e
Wages =zl 4000 |
Cash iy 25000 | e |
Machinery Ny 1480000 | e
Debtors S 65000 |
Rent A 700 0 | e
Sales F g e 2,00,000
Creditors NE 77 2 15,000
Capital e 1,26,000

Total ol 3,41,000/- 3,41,000/-

Adjustments:

i~ Closing stock is Rs 20,000
i1 -~ Qutstanding wages Rs 1,000

iii - Prepaid rent Rs 1,500

iv - Depriciation on machinery @ 10% per annum.
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